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READ THE FOLLOWING INSTRUCTIONS CAREFULLY
BEFORE WRITING ANYTHING ON THIS BOOKLET

1.  Before commencing to answer, check that the Question Booklet has all the above mentioned number of questions
and there is no misprinting, overprinting and/or any other shortcoming in it. If there is any shortcoming, intimate
the same to your room invigilator and have it changed. Before answering you must ensure that you have got correct
post code/discipline booklet. No complaint in this regard shall be entertained at a later stage.

2. Write with Ball Point Pen Your Name, Roll No. on this page (above); and use Ball Point Pen for filling boxes of
the Answer Sheet in the space provided and sign on the OMR Answer Sheet by Ball Point Pen and use Blue/Black
Ball Point Pen to darken the ovals.

3. This is an objective type test in which each objective question is followed by four responses serial led (A) to (D).
Your task is to choose the correct/best response and mark your response in the OMR Answer Sheet and NOT in the
Question Booklet.

All questions are compulsory.

DO NOT scribble or do rough work or make any stray marks on the Answer Sheet. DO NOT wrinkle or fold
or staple it.

6.  Answer sheet will be processed by Electronic means. Hence, invalidation of answer sheet resulting due to folding
or putting stray marks on it or any damage to the answer sheet as well as incomplete/incorrect filling of the answer
sheet will be the sole responsibility of the candidate.

7.  Rough Work is to be done in any blank space in the booklet. No other paper will be allowed/provided.

8.  Take care that you mark only one answer for each question. If more than one answer is given by you for any
question, the same will not be evaluated. Cutting/overwriting the answers are not allowed. Further question
paper is bilingual (Hindi/English). In case of any variation in Hindi version, English version will be taken as
final for evaluation purposes.

9.  Use of Calculators, Slide rules, Mobiles, calculator watches or any such devices and any other study/reference
material is NOT allowed inside the examination hall.

10. Return OMR Answer Sheet to the invigilator on completion of the test. Do not take OMR Answer Sheet outside the
examination room. Doing so is a punishable offence.

11. In case of questions options start from A,B,C,D then darken the circle 1 for A, 2 for B, 3 for C, 4 for D.
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Which one of the following is incorrect. “Authority competent to sanction leave can”.

(a) Refuse leave

(b) Sanction Leave

(c) Revoke leave

(d) Change the kind of leave applied for
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How many times the request for change of home town can be accepted during the entire service of a Govt.
Servant.

(a) One (b) Two

(c) No limits (d) Non of the above
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If the distance between the old and new place of posting is more than 2000 km and the officer travels by Air,

the maximum admissible joining time will be.
(a) 10 days (b) 15 Days
(c) 12 DAYS (D) None of the above
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In which schedule of the Employee’s State Insurance Corporation(staff and conditions of service) Regulation
1959, the Appointing Authority and Disciplinary Authority to various posts in Corporation are prescribed

(a) First Schedule (b) Fifth Scheduled
(c) Third scheduled (d) None of the above
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ST 3R ST W fohd TehR o SehISAN GakT oI IR fehdT SATeT & ?

() afrar (@) §%

(3T) TSI B (&) AT HorseT

Receipts and Payments Account is prepared by—

(A) Companies (B) Banks

(C) Partnership firms (D) Non-trading organizations
oY GeAferaer &t 31 &-

() T3TaSs aNfSa foham a7 @ifeheT AIRURERT GaRT &1t AgT fohaT I
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Ploughing-back of profits means—

(A) Dividend declared but not claimed by shareholders

(B) Non-declaration of dividend in any year

(C) Profits earned from illegal sources and employed in business

(D) Retaining the earnings of business for future expansion programme

Mg FH IPR FTHTE?

(@) IT&T I (@) A
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GST is a kind of

(A) Direct Tax (B) Advance Tax
(C) Indirect Tax (D) Sales Tax
A, HIARTST R CSHTS T Feliehel fonaT ST =R T-
(eh) HcT AYTeadr (@) 31 Hafeaar
(a1) =re] Hafeaar (8) SFTedfeieh Fafeaar
Goodwill, Copyright and Trademarks should be classified as—
(A) Tangible assets (B) Intangible assets
(C) Current assets (D) Fictitious assets
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Which of the following is shown in Profit & Loss Appropriation A/c?
(A) Provision for Income Tax (B) Provision for Depreciation
(C) Provision for Doubtful Debts (D) Contribution to General Reserve

CeER - 3TecT (ot TershT) T 3TeTUTCT 4 B | 3T Talg 3rafey o &2
() 5 HgleT (@) 4 FAgT
(31) 3 AL (&) 2 7L

Debtors turnover ratio is 4.
What is the average collection period ?

(A) 5 months (B) 4 months

(C) 3 months (D) 2 months

HoUs o fAeA T altenl & gREafee & 7Y ST a2 deh 7T TerT STl &7
() TeT YWT Ui (@) Ted §U e T
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Under which of the following methods of depreciation the amount of an asset is never reduced to zero ?
(A) Straight line method (B) Diminishing balance method
(C) Sums of Years Digit method (D) Annuity method

% 500 F TCTh (Sedel), i 37T T STSC 8 ITAT AT & eI H T 300 T Teh STAT STaT TR fHIT I1AT| T 200 S
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An insurance claim of Rs. 300 was accepted in respect of stock (inventory) of Rs. 500, which was destroyed by
fire. Rs. 200 not covered by insurance should be debited to which one of the following ?

(A) Stock account (B) Trading account

(C) Profit and loss account (D) Goodwill account

1-4-2017 Y HIETL HUT & ToI qRT=1 GTaeileT shT AW TR & 10,000 Y| T 2017 -18 o GRTeT TITST FHUI T &
12,000 §F - W H STAT 31T, 31R31-03-2018 F 15,000 T TAT UTGEITA FhaT IAT | 9TST FOT 3R TGTT
Tl o ShIROT T8 R E1el Wik 7 A1 Foh STt Y e TRy F2m 72

(&) ¥ 37,000 (&) T 27,000

(3T) ¥ 17,000 (&) ¥ 15,000

The balance of old provision for doubtful debts on 1-4-2017 was Rs. 10,000. The bad debts written off during
the year 2017-18 amounted to Rs. 12,000, and the new provision required on 31-3-2018 was Rs. 15,000. What
is the total amount to be debited to profit and loss account on account of bad debts and the provision for
doubtful debts ?

(A) Rs. 37,000 (B) Rs. 27,000

(C) Rs. 17,000 (D) Rs. 15,000

e GST IAT AT URITHT H &, Y 379 & 31T & Foiol wiafse gaf-
(oR) AT HTSEL AT WIAT / STHAT JTfciehell T

(T) AT ATTEY AT WTAT / STHAT WG QT

(3T) AT TTeh WIT / STAT FATIEY HTeT WA

(&T) ST 3T feiencl WA / STAT ATEY ATl @I

If the goods purchased are in transit, then the Journal Entry at the end of the period will be—
(A) Goods in Transit A/c Dr. To Supplier’s A/c

(B) Goods in transit A/c Dr. To Purchases A/c

(C) Stock A/c Dr. To Goods in Transit A/c

(D) Supplier’s A/c Dr. To Goods in Transit
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What does the “Vacation Department “ means
(a) The Department which decides about the entitlement of vacation in Govt Departments
(b) Departments which functions during the holidays of the Govt. Departments

(c) Departments where regular vacations are allowed to the employees serving in them.
(d) None of the above

gfe fourfiy sriaE & SR RN fPeRT & fdwg oMU T IRIY Rig 8 € a &4 9 &4
IR R 8rf

(@) o1 TIdra (@) 9a9 I DI DT
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If after departmental enquiry the charges against the charged officer are proved , the minimum penalty should
be
(a) Recorded Warning (b) Stoppage of increments

(c) Censure (d) None of the above

1 # § PF 991 wRd ©

(@) IRIMUT ATHRT F THA IGell

(@) =rdTa=

(1) et w9 T v aef & forg a9 deiay @ b
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Which one of the following is a Major penalty .
(a) Recovery of the loss from the Charged officer

(b) Warning
(c) Stoppage of increment for one year without cumulative effect
(s) Reduction in Rank

AId I IRANT BT I B AJAR YLdl—2, U8 U | 4200 & Ia4 bl U Hfgad H fFd wR W
iR fear w2

(@) 2 (@)10
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As per the 7" Pay Commission Recommendations ,the Pay in Pay Band PB-2, Grade Pay Rs. 4200 is fixed at
which level in the new Pay Matrix.

(a) 2 (b) 10

(c)6 (d) None of the above

9 Bl ARBNT HHAR! BT RIFICRY IHD AJRY R U Sod Ug ¥ -I1d U8 W HI1 91 &,
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When a Govt Employee is transferred from a higher post to a lower post on his request , his pay has to be
fixed under —

(a) FR-15 (b) FR-48

(c) FR-26 (d) None of the above
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Which one of the following is not a recognized form of Leave.
(a) Earned leave (b) Half Pay Leave

(c) Casual Leave (d) Commuted Leave
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A Govt servant availing LTC by Air, can not book tickets through
(a) M/s Balmer Lawrien and company ltd

(b) IRCTC
(c) Anand and Company Tours and travels
(d) M/s Ashoka Tours and Travels

JIHTY fhdad wT H 81 T ST Ahdl

() 3rfaeR (@) favenfrer
() Bi (8) rger

The leave can not be claimed as a matter of-------

(a) Right (b) Privilege

(c) Duty (d) Perks

3F AT ( BRA 9fd ) @ ifaRad 98 fRaR afd, s SRM afe SRer &Hary fa=r
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The continues period in which a Govt. Servant remains absent with out any valid reason , other than foreign
service , with or without leave should be deemed to have resigned from the service is-

(a) 180 days (b) 05 years

(c) 03 years (d) Non of the above

AT gt Faftd a¥ & = # 9 b &A1 7 15 39 @ 99 R R 1M wu ¥ faar Sirar
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(@) 31 faFeR, 30 SA
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Earned leave is afforded in advance at the uniform rate of fifteen days , on which of the following days of the
concerned year
(a) 31% Dec, 30" June

(c) 1* of January, 1° of July

(@) 31 ¥4, 30 RdaR
(&) SWRITT | BIS T8l

(b) 31 March, 30th September
(d) None of the above
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An amount of Rs. 2,00,000 was paid on 23/3/18 for advertisement in a newspaper. This was published in the
news paper on 3/4/18. This expenditure will be shown as

(a) Liability in the balance sheet on 31/3/18

(b) Prepaid expenses on the assets side of balance sheet on 31/3/18

(c) Advertisement expenses in the profit and loss A/c for the year ended 31/3/18

(d) Prior Period Expenditure in the annual accounts for the year ended 31/3/18

ST IS aIflicd o el o T e Gareel &1 afgale FHfad ¢ gdr & AT AT T TI AT XA &
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When outflow of economic resources to settle an obligation is not probable or the amount expected to be paid
to settle the liability cannot be measured with sufficient reliability, it is called

(a) Provision (b) Contingent liability

(c) Secured Loan (d) Unsecured Loan

i@ & O ia a1 Juea & Fieae War & Fafaa Aai g2

(5h) ATECTAS d&¢ WI SAGRT 3R FEhr3e I 3oeTe 7 Alaer 70T 3R HUT IR Fe & T Traente e
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Which one of the following is not related to the convention of conservatism ?

(A) Making provision for doubtful debts and discount on debts in anticipation of actual bad debtors and
discount

(B) Valuation of stock at Market Price or Cost Price whichever is higher

(C) Charging of small capital items as Revenue

(D) Adopting Written-down Value Method of depreciation as against Straight-line Method

31T IR FET AT AT § ?
() @ImeT 3R g1fet @re <hr 3fare et
(@) Soid T T GIaT T8T

(3T) TS 37 &TfeT Tt T shisc TaT
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Advance Income-tax is shown in the—

(A) Debit side of Profit and Loss Account
(B) Liability side of the Balance Sheet

(C) Credit side of Profit and Loss Account
(D) Assets side of the Balance Sheet

SeT3Y I hleT TT TS BTTaY FATAZNT e #F e e &2
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(&) " ReTd & ford Qererer
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fAFsT 7 & hleT a1 A HE &1 & AT AL 82
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Which one of the following pairs is not correctly matched?
(A) Accounting equation— Assets-Liabilities-Capital

(B) Accounting year— 1st April to 31st March

(C) Accrual concept— Recgonising revenue on receipt of cash
(D) Cost concept— Recgonising transactions at historical cost

Y U8T o T H &1 ST aTell IIRET3T Sl SH YehR HIAT ST
() 3T THS SIT O EREIGEREI
(3T) TR TS AUfcd (&) 9TaeIeT

Guarantees given in respect of third parties will be considered as :
(a) Contingent liability (b) Current liability
(c) Contingent asset (d) Provision

faf@a 7 & slsr O s §97 311 3uaor & 31fAEgoT i oerd 7 enfiAer sigi g2
() TTET AR Fed T AR (@) f3foradr 3R gsfer e
(3T) FATYAT ST (&) 33T YT AT

Which of the following expense is not included in the acquisition cost of a plant and equipment?
(a) Cost of site preparation (b) Delivery and handling charges
(c) Installation costs (d) Fire Insurance premium

AGTeheT Gl & 3Tt & TG 7 fALALAT MU AT SH AT I HE A el & fob-
(o) Teh &Y 3T & Ul T orar afshanait 3R fafert s Suier e &

(@) 37 3R Fufed TS 6T gs &
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Consistency with reference to application of accounting principles refers to the fact that—

(A) Companies in the same industry use identical accounting procedures and methods

(B) Income and assets have not been overstated

(C) Accounting methods and procedures used have been consistently applied from year to year.
(D) All the methods and procedures have been utilised.

Teh 3TEER H fa2ATdeT & foIT & 2,00,000 23/3/18 T [T fohaT 31T AT| g fA=ATeT HATIR I H 3/4/18
R ARRIT g agHeag R fegrar e

()31/3/18 Sl ol e & &Iar

(@) 31/3/18 &I Soid e T IRAGTcadT & geT 7 FIs @d
(W)31/3/183#W§vaﬁ$ﬁvmﬁaﬂ?§r%@ﬁﬁﬁwqaaé

(31) 31/3/18 AT FATCA IY & ATk @Il A Y 3T 4
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e T gad RN HHaR) B, o s 3 S|l e B D UAS dorex AR ForaH
IHD GRT AT &1 Bl AHEAT 8, & AFAR Ut 718, 777 § A b v R A raeprer <7 8
(@) 21/2 (@) 5/3

([ 2/3 (5) SWRIFT I PIg el

The credit of Earned leave for each completed calendar month, which a Govt servant is likely to render for
the half year in which he is appointed, will be afforded at which of the rate per month

(a) 2 % days (b) 5/3 days

(c) 2/3 days (d) None of the above

Udh ARl WRHN HHAR BI, HB AT & A, Iqb G AB & AR et 347 a1 fRrgg
TEITSA 3ABTY T 7

(@) 365 fa= (@) 240 faa

() 135 fad (€) SWRIGT & BIg e

Maximum period of Child Care Leave, during the entire service of of Female Govt. Servant, subject to
fulfilment of certain conditions is

(a) 365 days (b) 240 days

(c) 135 days (d) None of the above

e /aFfie wu A AT s<ai & Ao 8, 59 9<dl & fbd S¥ & 8 dob Afedl WReR

FHHAR] DI RIY <@ DT 3 BT
() 18 a9 (@) 22 99
(1) 24 a9 (@) SWRITd I BIg &l

In case of Disabled / Mentally Challenged children the child care leave is permitted to a female Govt employee,
up to which age of the such child.

(a) 18 years (b) 22 years

(c) 24 yrs (d) None of the above

A A fFRm— 2017 & 9 149 7 T 10 SHSTH.(* 70 ) &1 a1ed §
(@) TdTHE Sodei=d HIBICT

(@) SRS SeAdel = HID T

() TdTHe—F —ATh e

(&) SWRITT I BIS T8l

In the Rule 149 of the GFR , 2017 GeM stands for
(a) Government electronic Marketing

(b) General electronic Marketing

(c) Government e- Marketplace

(d) None of the above

A I a9 & ifaR & iR a@ @1 @kl SIS (x 70 ) 9, faar Rad fas ufean
SAME BT 3IAY B ST FhdT ©
() % 50000
(1) % 25000

(@) % 15000
(6) SWRIGd I BIS T8l

As per the GFR 2017, purchase of goods up to which vale on each occasion can be made directly through GeM,
without following reverse bid process etc.
(a) Rs 50000

(b) Rs 15000
(c) Rs 25000
(d) None of the above
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ST drell araRen (Two bids system) #, /71 % & <1 qiferai &9 €
(@) Tl Td el dretl

(@) THAIDT TG IR—qHIDl drell

() Tl Td Ay arell

(€) SWRIGd | BIg &

In Two Bid System, the two bids are
(a) Technical and Open Bids

(b) Technical and Non-Technical Bids
(c) Technical and Financial Bids
(d) Non of the above

qrel Ren (s e & f1 % | 1 @ed ©
(@) faita et

(@) drefracl gRe

(7T) T (@FREH)

(&) ST DI T8 AR

“Bids Security” is also known as
(a) Financial Security (b) Bidder’s Security

(b) Earnest Money (d) Deposited money

AHd dlell T dTel &, A=a: dfaer IR &1 fhd=r ufaera Awred TRE ( WeHg TRET ) &
w0 ¥ forar mar @
(@) 2—4 gfcerd
(1) 1—2 uferd

(@) 5—10 yfcrerd
(€) SWRIGT I BIg 78!

What percentage of the contract amount , normally , be taken as performance guarantee from the successful
bidder

(a) 2 to 4 percent (b) 5 to 10 percent

(c) 1to 2 percent (d) Non of the above

URId BATE DI Usell Sl Ud Usell SJells Pl [T JFefad= srasdrer i WU ¥ gee! dd A
ST 81T ©

(@) 15 fa= @) 12 faA

() 8 fa= (&) SWRIGT & BIg e

The Half pay Leave is credited in advance in every six month on 1% of January and 1* of July every year at the
rate of

(a) 15 Days (b) 12 days
(b) 8 Days (d) Non of the above
= 5 T w2

(@) AT ATHT Daet Fafedm FHAOT—T5 & MR R & Wi 8T 2

(@) AT DI Hadt o1 B THAV—UF & R W & Wighd Bldl &

(71) 3ReATE VBRI HHARI DI fefIdT ATBT Bl W, AP Wildre B dlel ATBNI Bl
Agfe w R 8t 2

(&) SRIad § BIS el

78.

79.

79.

80.

80.

81.

81.

82.

82.

List-1 (Type of Books) List-1l (Content)
(a) Minutes Book

(b) Subsidiary Ledger
(c) Stores Ledger

(d) Log Book

1. Records of issue of packing materials
2. Records of running hours of machine
3. Records of decisions at a meeting

4. Records entry of receipt from debtors

Match list | with list Il

(A)@)(b)(c)(d): 3 2 1 4

(B)(@)(b)(c)(d): 1 4 3 2

()@ (b)()(d:3 4 1 2

(D)@ M) (c)(d):1 2 3 4

fArAfaf@a 7 & Fgr g gad

T = RIFh gl ; of = @lie; Y = FATYA godedy ; 31 = S 71 aEg3it & e

(@) AT=ar+dr (@) T+ =34

(I) T-H =3+ (&) T+AT=TT+3r

From the following find out the correct equation A=Opening inventory; B=Purchases C=Closing Inventory

D=Cost of Goods sold
(a) D-A=B+C
(c) A-C=D+B

(b) A+B=D-C
(d) A+B=C+D

% 2,000 HeZ T HIHATT HeAdTRAT 1 HFd 7 TRl foham IR g@ht fohat @i & 3Tare fovam ST 2
() HTthe Us ofe @rdm (@) farrdet @rar
(3T) S FHeATOT G (ET) FTHTT QT

Goods worth Rs. 2,000 were distributed to employees free of charge. The account to be debited is—
(A) Profit and Loss A/c (B) Advertisement A/c
(C) Labour Welfare A/c (D) Goods A/c

Te] 3T 3: 2 & 3R ATe] SoeTRAT T AT 60,000 & AT <Te] et chr TR T 72
(%h) % 60,000 (@) ¥ 70,000
(%T) ¥ 80,000 (&) ¥90,000

The current ratio is 3 : 2 and the amount of current liabilities is Rs. 60,000. What is the amount of current
assets ?

(A) Rs. 60,000
(C) Rs. 80,000

(B) Rs. 70,000
(D) Rs. 90,000

Hed TR H dGoTd & HRUT [He= o & 7 @ hisl | 0T Hod SATel FH1fad gram?
(&) TTe] 3equTc (@) geded T3NaT fgard
(97) STH THA3MNER 3eTdTcd (&1) Theres QHeH To3HTaR 3requre

Which one of the following ratios is likely to be affected the most on account of price level changes ?
(A) Current Ratio (B) Inventory Turnover Ratio
(C) Debtors’ Turnover Ratio (D) Fixed Assets Turnover Ratio
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75.

75.

76.

76.

77.

77.

78.

- | o T G- | 3 G & A Teeh I 1S T HET el T Tl hi-

- | (ST / 9o T 9ahfa)
(&) it wTeaar

(@) Gaiard g

(37) TTET TT

(€T) TroTEd TTTCeT TR 11 (3ETeT)

@) (@) (@) @M (@) 21243
@) () (@) @ @) 3421
@M () (@) @ @) 1423
() () (@) (@) (7)) 3241

Match List-1 with List-1l and select the correct answer using the code given below the Lists—
List-l (Nature of Expenditures/Receipts)

(a) Capital receipts

(b) Capital expenditure
(c) Revenue expenditure
(d) Revenue receipt

(A) (@) (b) (c) (d) :: 1
(B) (a) (b) (c) (d):: 3
(C) (a) (b) (c) (d):: 1

2
4
4
(D) (a) (b) (c) (d)::3 2

4 3
21
2 3
41

Afaf@a & @ 37 a1 ve oar geeoT §?

() IaiT = Fafed - dIare
(a1) Fufed = ST - goit

T I (38T60M)

1. 37l Gufeadt & fasht

2. 3797 Hafeadl # ur

3. STl o ®T H 9TCd AT

4. IR & ford HoT WX st

List Il (Example)

1. Sale of fixed assets

2. Improvement of fixed assets
3. Income received as interest
4. Interest on loan for business

(@) Gl = gufed + Sadrd
(&) IaTT = Hafed - gair

Which of the following is the Accounting equation?

(A) Capital = Assets — Liabilities
(C) Assets = Liabilities — Capital

(B) Capital = Assets + Liabilities
(D) Liabilities = Assets — Capital

ToRalT TIF T TATIAT R oI T foh @I A 3fae e arfge-

() TSI T @IaT
(37) T @Wrdr

(@) Rt
(&T) FF9Ted T TWIETG QT

Expenditure on installation of a plant should be debited to—

(A) Installation Expenses account
(C) Plant account

- | (TETS FTIHR)

(F) Priedt TR

(@) FETIH o

(3T) TR ol

(1) SIT9T e

T | o |1 T 11 T A G -
() (@) (@) (@) (T@):3214

(@) () (@) (1) (T): 1432

(3 () (@) (1) (F):3412

(&) () (@) () (T@): 1234

(B) Sundry expenses account
(D) Maintenance of Assets A/c

- 1 (#72)

1. YfeRar Araeht ST ey T Repisa
2. 7AW & Tolet & & & NS

3. Y& H Aot & Reprs

4. SACRT & uftq Frufafee
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24.

25.

25.

26.

26.

27.

27.

28.

28.

Which one of the following is correct

(a) Half pay leave can only be availed with Medical Certificate

(b) Half pay leave can only be availed without Medical Certificate

(c) Grant of Half Pay leave to a temporary Govt. Servant depends upon the satisfaction of the Sanctioning
Authority

(d) None of the above

TP UHR & JAHIY B TR YR & JFaBRT H URa g AIe, FafST adprel SUART & IURIT
HRIMR TV IR & SURIG b F7a A1 # F&fd miirer & <1 i &

(@) 2 w18 (@) 45 f&=

() 30 fa= (6) SRIGT & BIg T8l

What is the time limit for receipt of request for commutation of leave of one kind in to the leave of another
kind by the concerned authority, after joining of the relevant spell of leave availed

(a) 02 months (b) 45 days

(c) 30 days (d) None of the above
freifed TR ST BT 51 & I P19 A7 FdHIT T B

(@) T 3raarer (@) Srefdd= 3raadrer

() fagea s (|) S & @i el

Which of the following leaves can be granted to a Govt servant who is under Suspension
(a) Earned leave (b) Half pay leave

(c) Paternity leave (d) None of the above

TP HHANI & WTT H 31—12—16 Bl 287 31 @B € | f’&FId 01—01—17 A 30—06—17 &
SR S gRT 20 A @ 31fSfa sramrer vd 20 A & SARIROT SradTer ( Uanel e ol )
BT SYNIT fHar | feATd 01—07—17 BT D JAARTT W H b= &A1 o1 1T srgawrer Ay 2
(@) 295 (@) 300

(1) 297 (&) SWRIGT I BIS T8l

An employee is having 287 Earned Leave to his credit as on 31-12-16. During 01-01-17 to 30-06-17 he avails 20
days Earned Leave and 20 days Extra Ordinary Leave. What will be the balance of Earned leave on 01-07-17 in
his leave account.

(a) 295 (b) 300

(c) 297 (d) None of the above

THAOT—05 & fadm ST AT §
(@) 30 faa (@) 60 fa=
() 90 &= (&) SWRITT I PIg 8!

How many days Commuted Leave can be sanctioned to a female Govt. Servant without Medical Certificate on
adoption of a child.

(a) 30 Days (b) 60 Days
(c) 90 days (d) None of the above
7



29.

29.

30.

30.

31.

31.

32.

32.

33.

33.

U IS IRHN HHART Bl IAD! G Hal & SR BT TAV—0F & MR UR 3T 71.

fRa aoi—3med gedl ( ofla—Ale €3 ) & S |l 2

(%) 360 fa (@) 240 &

(1) 180 faA (€) SWRITT I BIg T8l

The maximum no of days Leave Not Due(LND), can be granted to a permanent Govt. Servant,during the

entire service on the basis of Medical Certificate 72.

(a) 360 days (b) 240 Days

(c) 180 days (d) None of the above

= & A P AT ABTY IRBN HHAR B [ABTY W H ol BT @

(@) fagea sradre (@) TR STTHTL

ISR EEIR (&) A 3rahrT D

Which of the following leaves is debited against the leave account of a Govt. Servant.

(a) Paternity Leave (b) Study Leave

(c) Earned Leave (d) Maternity Leave

Da WReY WAl & AABINAT BT FqDIR R1e 2, Fo FuiRa w@i & 3fefF, fha- &A1 &1 73,

I YABTY T BT &

() 6 18 (@) 24 #18

(1) 36 AT (6) SWRIGd | BIg 8!

The no of days for which study leave can be granted to a Central Health Service Officers for acquiring Post

Graduate Qualifications ,subject to certain conditions

(a) 6 month (b) 24 months

(c) 36 months (d) Non of the above

To Fa—s6(a1), forasr Hefed @

(@) T q@i, AUATRd ( Riee) vd i ard |Aaiiged SRR dHaRT Sl {6 il & IRVIFRGSRY 73.
RO BIAT &, & a9 Qd Al dred

() IRPHR §RT & Ud W@ I & TRBNI HHATRAT BT 50 I & IWRId TG B Tl qrad

() S wat @ deu # fH Jar @ 999 gfg TG TOET B

(6) SWRIGd | DIy 8!

FR -56(J) deals with

(a) Pay and allowances of a dismissed , removed or compulsory retired Govt Servant, who is reinstated as a
result of Appeal .

(b) Govt may retire Group’ A’ and ‘B’ Govt. Servant after attaining the age of 50 yrs 74.

(c) The provisions prescribing the conditions on which service counts for increment

(d) None of the above

FHARI T 4T ( FHARI < Td AT T ) AARH 1950 BT b gl | W & AR g

Irgqfad €

() wor STREl (1) ferchar Srgeget

QRICEIRESl () SWRIad | PIg el -

The Schedule of the Employee’s State Insurance (staff and conditions of service) Regulations 1959 in which
different post in Corporation is notified is
(a) First Schedule

(c) Fifth Schedule

(b) Second Schedule
(d) None of the above

The book value of a machinery on 01.04.2016 was Rs 70,000. Depreciation is charged at 10% p.a. under W.D.V.
Method on 31st March every year. The machine was sold for * 60,000 on 01.08.2017, Calculate the Profit / Loss
on sale of machinery:
(a) Profit Rs 3,000
(c) Profit Rs 900

(b) Loss Rs 3,000
(d) Loss Rs 900

1 31eF¢a, 2016 ¥ 30 AT, 2017 Teh f&AT a1 aT¥eh faram  1,50,000 3T 1 3eresR, 2017 A 30 AR,
2018 I & 1T af¥eh fohTram ¥ 1,80,000 AT| 31 AT 2018 Y FATSA §T Y o forw amer AR gifel @y &
feare foRrar iR I g -
(&) ¥ 1,75,000

(3T) 1,80,000 T

(@) ¥ 1,50,000
(1) ¥ 1,65,000

Rent paid on 1st October, 2016 for the year to 30th September, 2017 was Rs. 1,50,000 and rent paid on 1st
October, 2017 for the year to 30th September, 2018 was Rs 1,80,000. Rent paid, as shown in the Profit and
Loss account for the year ended 31st March 2018, would be:

(a) Rs 1,75,000 (b) Rs 1,50,000

(c) Rs 1,80,000 (d) Rs 1,65,000

1.4.2017 I Teh % T Iail & 2,00,000, HYfee & 2,40,000 3R SAATT % 40,000 7| | 3HeT & 10,000 T SATTA
aTell FEIHT 1 T 12,000 A I AT | 38 oet-&eT & @il 7 RehlS o6 e o af1e; er@iehet HehyoT h FEufa
T g

Hufed = gl + 3gard

(sF) 2,42,000 = 2,02,000 + 40,000

(@) 2,52,000 = 2,12,000 + 40,000

() 2,30,000 = 2,00,000 + 30,000

(€1) 2,22,000 = 1,82,000 + 40,000

On 1.4.2017, a firm's capital was Rs. 2,00,000, Assets Rs. 2,40,000 and Liabilities Rs. 40,000. It sold goods
costing Rs. 10,000 for Rs. 12,000. What will be the position of accounting equation after this transaction has
been recorded in accounts ?

Assets = Capital + Liabilities

(A) 2,42,000 = 2,02,000 + 40,000

(B) 2,52,000 =2,12,000 + 40,000

(C) 2,30,000 = 2,00,000 + 30,000

(D) 2,22,000 = 1,82,000 + 40,000

FUIfSId #7eY & oiaihd & & Aefaf@a & @ #ia yenfaa giarg?
(&) hael oITe 3R gTfer T

(@) o187 3R g1y farster @rar

(3T) Shael Soid efic

(&) oI 3R grfet oram 3R deig efie

Which of the following is affected by treatment of an accrued item in accounting?
(A) Profit and Loss A/c only

(B) Profit and Loss Appropriation A/c

(C) Balance Sheet only

(D) Profit and Loss A/c and Balance Sheet
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65.

66.

66.

67.

67.

68.

68.

69.

69.

70.

70.

71.

Few items of P/L A/c of a company are—
Sales — Rs.1,60,000

Closing stock — Rs.38,000
Non-operating Expenses — Rs.800
Non-operating Income — Rs.4,800

Net Profit — Rs.28,000

What is the Operating Profit Ratio ?

(A) 18% (B) 20%
(C) 15% (D) 57%

TG = FleT TEJ AT &2

CIMGEIGED (@) TS
(31) EeH ATRRY (&) TTaT Shopeir

Letter of Credit is presented by—

(A) Exporter (B) Importer

(C) Custom Officer (D) Shipping Company

% T 3T TeTeh T 80,000, TRTEH Teieh 37T Teleh I 10,000 FH & | TRTEHH Tl g-

(eh) % 95,000 (@) ® 85,000

(3T) ¥ 90,000 (&) ¥ 75,000

Average stock of firm is Rs. 80,000, the opening stock is Rs. 10,000 less than closing stock. Find opening stock.

(A) Rs. 95,000 (B) Rs. 85,000
(C) Rs. 90,000 (D) Rs. 75,000

g1l Q@ Ao caRT 31g R a€3il Y foha @rd A sfae favar ST g-
() ATT TTeT (@) I[5E el

(31) hTeer @rar (ET) 3ATEROT W1

The goods taken by the proprietor from the shop is debited to—

(A) Shop account (B) Goods account
(C) Capital account (D) Drawings accounts

TAITHAA | Ugel 1 o1 fohd @I A gEATaRd fhar Srarg ?

(&) e Rea (@) Steiet Rord
(31) 9Tfthe TS o1 3THhI3C (&) f31 3/epT3e
Profit prior to incorporation is transferred to—

(A) Capital reserve (B) General reserve
(C) Profit and Loss Account (D) Trading Account

& AR @ T IR A MR A 3R 3: 2 o 3T & of1e7 3R g1l AT X 7@ | 3ogiat 5 dF PR & fordy
TTSIE & &9 3 7 T 7l T | 7T oI18T FISIGRT eI §19TT-

(P)3:2:1 (@) 6:4:1

(3M) 12: 8:5 (&) 12:6:2

A and B were partners in a business and were sharing profit and loss in the ratio of 3 : 2. They admitted Cas a
partner for 5 th share. The new profit sharing ratio shall be—

(A)3:2:1 (B)6:4:1

(C)12:8:5 (D)12:6:2

01.04.2016 T FLIAL T FH 70,000 T AT| T §T Hed TG b edd Hederd 10% Ffdas o feram Sar
& | 72feT 01.08.2017 ST % 60,000  ToIT sI=T 31T AT, FRMAT T Toishl IR T / &TfeT I IT0TT Y

() 3,000 I T ATH (T) 3,000 T9Y T FHEATA

(37) 900 TIY SATH (E) 900 T T JhdTeT
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34.

34.

35.

35.

36.

36.

37.

37.

FR -22(l) (a) (1) deals with

(a) Option for fixation of pay on promotion

(b) Conditions on which service counts for increment
(c) Compensatory allowances

(d) Age of retirement of a Govt. Servant

Dl Rifde Jar (emervr ) FemrEel & sidia 1 # & fhde! srgafa / Wigfa &1 sraeaddn

R
(@) wae fHor 8
) WRHRI HHANT & YRIRSHT @ el GRemsil § FreH 8q

(
(1) TSR FHART & GF, S e § 7 &R 99 R R 781 8, & T &R Wi qda

(6) SWRIFd I BIg &

Which of the following does not require permission /sanction under CCS (Conduct) Rules

(a) Construction of house

(b) Employment in Foreign Organisation by the family member of a govt servant

(c) Purchase of car by son who is in employment and not dependant on Govt Servant
(d) None of the above

Sarg fafder ar (@maRvn) fFramEe o1 oW 20 o ST &
(F) RGN HHART DT oI H ARIERT arad

(@) TR HeR

() IR—BTaTeTdl IT I A8 YNIG Sle & UIN 91dd

(€) SWRIAT I BIS T8l

Rule 20 of the CCS (Conduct) Rules deals with
(a) Participation of a Govt Servant in politics

(b) Unauthorized communications
(c) Canvassing of Non- Official or other outside influence
(d) None of the above

Darg Rifae ar (@meRo) framEen & g9 3 # 1 # 9 319 fafza =8t &
" YD IRBRI HHANI............ "

(@) Pica ST &1 UTes B |

(@) quT AT T |

(1) BIE VAT B TEl BT Sl TRBRT BHARI & ol AT 8T |

(9) 3BT HEd WA |

Which of the following is not prescribed in Rule 3 of the CCS (Conduct ) Rules

“Every Govt. Servant shall ------

(a) Maintain devotion to duty

(b) Maintain absolute integrity
(c) Do nothing which is unbecoming of a Govt servant
(d) Maintain good health



38.

38.

39.

39.

40.

40.

41.

41.

AT 8 dTel TRBN HHART B UG ( USFge! ) Bl Afddad T ©
() 10 T (@) 20 <G
() 15 &g (&) SWRIGT H BIS T8l

The maximum amount of Gratuity allowed to a retiring Govt. Servant.
(a) 10 Lakh (b) 20 Lakh

(c) 15 Lakh (c) None of the above

I TRHN AR 1 1 99 A 3D Td 5 94 I A Bl AaT & & A g Sua (7 Isgge )

(@) 2 W8 B "1RS aRAfREl & aRER

(@) 6 W B ATRTS WRfARMl & aRT&R

(1) UAH 6 ATE DI Aedh WAl & foIg M AL @) "ifid gRefer
(G) SWRIad | & Bl &l

The amount of Death Gratuity , if a Govt servant has rendered one year or more but less than five years of
service will be
(a) 2 times of monthly emoluments

(b) 6 times of monthly emoluments
(c) Half months emoluments for every six month period of qualifying service
(d) None of the above

1 9 e a7 & UereR Ul Ued & @ ufderd &1 WRefiexvr, g fRfec mieert gr
WR UIY S & d1a 8 B Ahd ©, dle S 1 ay & W & Arde faar &

(@) srferalRfar Yo uradmar

() Harfrgfcd ter greebdl

() fegfet Yo uraeai

(&) 2T & U H ifvard Aargiad & IuRid urd e areiehd

Which of the following category of pensioners are eligible to commute a percentage of their pension only after
they have been declared fit by the Appropriate Medical Authority, even when they apply before expiry of
period of one year.

(a) Who are receiving Superannuation Pension

(b) Who are receiving Retiring Pension
(c) Who are receiving compensation Pension
(d) Who are receiving pension after compulsory retirement as a measure of penalty

WHN HHARN FTFa! FH F HH 7 99 o) JaT & SURId, Wl & IR G Bl 2, HT IRaR 50
gferera 3ifom 909 @1 931 &% W, fha= :af a& U9 &7 gharR 81T

(@) 10 a9

(@) 7 a8
(1) S99 T8 ATl BT 3G U HR ol
(@) SWRIGd H PIs 8l

S

\/\_/@

The family of a Govt servant , who dies while in service after rendering not less than 7 years of service, will be
entitled to enhanced rate equal to 50% of Last Pay Drawn up to

(a) 10 year

(b) 7 year

(c) Till he would have attained the age of superannuation

(d) None of the above
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61.

61.

62.

62.

63.

63.

64.

64.

65.

TTe] 3EH &1 HTUROT T U SAGHTA FeTs T AT AT -
(5h) TS oI elT Sfdet (@) Teh e &1 STt
(3) Tk Sl &1 & Shae (&) e fATRad Shaet

According to going concern concept a business entity is assumed to have—
(A) A'long life (B) A small life
(C) A very short life (D) A definite life

fAFeTfa e 7 & st € Ffeat T oeToT dorde garT fg foham ST JehaTr &2
(eh) &rfargfet et (@) Targiet shr Jrear
(97) e T e (&) Tt e

Which of the following errors are not disclosed by Trial Balance?
(A) Compensatory Errors (B) Errors of Principle
(C) Errors of Omission (D) All the three

fhg aE & GFafca3i & gf8d e & oy RiFdesT Afr 1 3uaergrar g »-
() &5 AT (@) T, TETT 37T
(31) FRAA, $7areT, 3T7E (1) Q&R

Depletion method of depreciation is used in case of—
(A) Trademark etc. (B) Mines, Quarries, etc.
(C) Machinery, Building, etc. (D) Books

Soie eMe & Tay # leT a1 HUT TE e &-

(ch) TG Teh WIAT &

(@) TE B AL IR fehaT STl &

(3T) TG IO TR Y ST & FrT IR fomam Srar &
(&) Tt IRIFa

Which statement is not true in respect of a Balance Sheet ?
(A) It is an account

(B) It is prepared every month

(C) It is prepared to check the mathematical accuracy

(D) All the above

oY =it & STe-gTial W & FS HTSH g-
foshr  -%1,660,000

difare®d - 8,000
R-ARfETTT-F 800
IR-ITIRTET 3T - ¥ 4,800

[ T - & 28,000

TR fEaT ifthe 3rgara arm 82
() 18% (W) 20%
(3T) 15% (€) 57%
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55.

56.

56.

57.

57.

58.

58.

59.

59.

60.

60.

In which of the following cases LTC is admissible to a Govt. Servant.
(a) Govt servant under suspension

(b) Govt. Servant on leave and resigns his post
(c) After completion of one year continues service
(d) If spouse of a Govt servant is in service and taking LTC for whole family.

e TREHRY HHARY BT [ETR TG AR BT I T &1 & ar 1 § | g1 9281 gem
(@) DaeT RIS WRATT FqHTT AT RAIT BT 8HIR ©

(F) DI TETR AR ATAT RIRT BT HaR B

() 98 SR—gd & foq faver ge I &7 ghaR B

(@) SWRIad H PIs e

If Home town and Place of posting of a govt servant are same , which of the following is correct .
(a) Eligible only for All India LTC

(b) Eligible for Home Town LTC
(c) Eligible for special concession scheme to travel by Air to NE Region
(d) None of the above

=1 7 & e Rafaal # srawrer a=n Rara daa aRIR & <3 7, FFAR &I T8l
(@) SMfIdT STFHTI B TR () SETAT AR b QIR
(M) e & SRM (&) AT JTABIR & SR

In which of the following conditions LTC is admissible only to the family of a Govt servant and not to him.
(a) During HPL (b) During study leave

(c) During Maternity leave (d) During Suspension

JaHT I RIrad 1fH &1 Fare fad fods 99 & idR <7 3aws &
(®) Ud AT (@) < w18
(1) &1 AT (&) SURIad H BIg el

The bill for adjustment of the LTC advance should be submitted within
(a) One Month (b) Three Month

(c) Two Weeks (d) Non of the above

Ife IRBR) HHART gRT TS A8 B T$ 8 dF g1 Ir=n RIrad 1| &1 ¥y argd o=y grf
(@) 6 fowal & @) 12 fHwar #
(1) IR T (=) 3 fpeai A

If the journey is not performed by a Govt. Servant , theLTC advance drawn should be refunded in
(a) six instalments (b) 12 instalments

(c) Full (d) 3 instalments

aeHTeT AT RATIT H & AMERV & IURIC, T Bl S dTel fSHe Bl URT B DI FHIA]
T 7

(@) 7 fe=t # @) 10 fe=i #

() 30 fa=i # (@) 15 faai #

What is the time limit fixed to produce the outward journey tickets after drawl of LTC advance.

(a) Within 7 days (b) within 10 days

(c) within 30 days (d) within 15 days
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42.

42.

43.

43,

44.

44,

45.

45.

46.

T ARBNI HHARS B a1 A8 IR 3GaM <3 R Jfe YR Td Y J&ATed BT G320
feheariier A &4 B, offd- IHDI AU BR UREfld Bl TSl §

(@) T3 (@) Hot I BT 50 fererd

(TT) ¥ 99 & 80 Hfcrerd & 1,/3 (&) SWRIGd | BIS e

What will be the admissibility of “Composite Transfer Grant” to a transferred Govt. Servant, whose new
place of posting is at a distance of less than 20 kms from the old station, but the change of residence involved.
(a) Nil (b) 50% of the basic pay

(c) 1/3rd of the 80 % of Basic Pay (d) None of the above
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The complaint committee constituted in Ministry /Department/ Offices under CCS(Conduct) Rules, after

notification of “Sexual Harassment of Women at Work place (Prevention, Prohibition and Redressal) Act 2013,

works as —

(a) Preventing Authority (b) Disciplinary Authority

(c) Inquiring Authority (d) Non of the above
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The complaint committee can recommend
(a) Transfer of aggrieved woman or the charged officer to any other workplace

(b) Grant leave to aggrieved woman up to 3 month

(c) To deduct from the salary or wages of the charged officer such sum as it may consider appropriate to be
paid to the aggrieved woman or legal heir.

(d) All of the above
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In accordance with the CCS( Conduct) Rule 18(3) the limit after which the transaction is required to be
reported to prescribed authority is
(a) Rs 10000

(c) 2 months basic pay of Govt. Servant

(b) Rs 25000
(d) None of the above
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What is the time limit for drawl of advance for the purpose of journey by train for availing the Leave Travel
Concession.

(a) 35 days (b) 125 days

(c) 65 days (d) None of the above
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A Govt servant wants to avail Leave Travel Concession during Saturday And Sunday without availing any kind
of leave, which one of the following is correct:-

(a) Not allowed

(b) May be allowed by controlling authority

(c) Allowed during All India LTC.

(d) Allowed during Home Town LTC
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What is not correct about the Child Care Leave(CCL)

(a) It is admissible to a female Govt. Servant for two eldest surviving children

(b) An employee can not proceed on CCL without prior approval of competent authority
(c) CCL can be availed even if the female employee has Earned Leave in her credit

(d) LTC can not be availed during CCL

o= & 9 I A1 ahTy SR B SR T O WahdT 7, oife 2fe waar ¥ T8l gar §
() STHRAD ITqDT () 3T araerar
WESERIZECEaN (&) SWRIGd H BIS T8l

Which of the following leaves can be availed while on tour, but no DA admissible
(a) Casual Leave (b) Earned Leave

(c) Leave Not Due (d) None of the above
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In which of the following cases of appointment a Govt. Servant need not to clear probation
(a) Direct Recruitment (b) Promotion in Regular Cadre

(c) On Deputation (d) None of the above
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Service Book of a Govt servant is required to be shown to him.
(a) When he attains 52 yrs of age

(b) As and when demanded
(c) Every year
(d) None of the above
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Which of the following pensions are not regulated by CCS(Pension) Rules 1972.
(a) Superannuation Pension (b) Retiring Pension

(c) Compensation Pension (d) Extra ordinary Pension
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Which of the following family members of the Govt. Servant is not eligible for LTC.
(a) Dependant Father

(b) Son 25 yrs. of age and dependant
(c) Widowed daughter age 27 yrs
(d) Spouse of Govt, servant claims LTC independently
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90% of the LTC fair can be sanctioned for onward and return journey if the leave taken by the Govt.Servant or
the anticipated absence of his family member does not exceeds
(a) 3 months (b) 1 month

(c) 2 months (d) None of the above
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